CERS Practice Problem #1
	Claim: (What do you think the answer is?)
	 Evidence: (How do you know that?)

	 Reasoning: (Why does your evidence support your claim?)
	 Synthesis: (Explain why you think your   

 answer makes sense.)


Sam is analyzing two large numbers. He notices that 61,312 and 6,158 both have 61 as the first two digits. Then, he looks at the next digit in each number.  Since 5 is greater than 3, Sam says the number 6,158 must be greater. Is Sam’s way of thinking correct? Explain your thinking with pictures and words in the chart below. 

































Name: ______________________________________








